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1. Find all intercepts of the graph of y = =5 W y _ 2 - ;‘1 Y- 5
-3 2 2 ¥+2 =0
(@) (~2,0) ® (-2,0,3,00 /. , \ © (o, —), (3, 0) e
Lus"ff: . K="
(e) None of these ) LV {9 M
N WAV ' »
2. Determine if the graph of y = 2 x— 4 is symmetrical with respect to the x-axis, the y?axis, or t}@ ARAY \O(}A IM Wy A
(a) About the x-axis (b) About the y-axis ( (c) About the origin
(d) All of these (¢) None of these -? {“X) = m"“)( - W”X b . X\
XM XY

3. Find all points of intersection of the graphs of ¥—2x—y=6andx —y =

- %)

(@ (0,-6),(0,4) (b) (10,14),(13,17)
) (-5,-1),(2,6) (e) None of these XZ 2% mﬁ) =
| * &~ =)
>( 4. Which of the following is a sketch of the graph of the function y = x* + 17 N -
j (b) f‘\w‘ > ?{: “' - } ,}’: \ ¥
| X
©) @ =%, ExX= ~o-
A N ‘)( > | E X
B - =S Yoz
- x 2747 BT
" ok 1 ; x ) = e 1
-3 - 1 b 1 2 3 .y = J
-1 . f o g W=t
. % ﬁgff
=
D (e) None of these é
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5, Find an equation for the line passing through the point (4, — 1) and perpendicular to the d =i X %‘1 o
" line2x -3y =3 -Bi=-
ine 2x — 3y %\ i‘f*”‘:} .,.‘, ‘{ngh;
& -~ (b) x+2y+2=0 (© 2x+3y=10 2 '
Jo3 (e) None of these 0o AW
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7. Find f(x + Ax) for f(x) = x> + 1.
(a) 3 +++Ax -F(}(‘i“ ;ﬁ?() %{‘*M} - (b) 3 4+ 3x2(Ax) + 3x(Ax)? + (Ax)® + 1
(© 2 £ (AP +1 ) A%~
(e) Non@«GfoE;e /L TAX ) ’W‘ X '§' ZXOX+ LK )
X3+ m,ﬂ + X M) + 1

8. If f(x) ——'ﬁ
_ 2
@) 1\/;
I
@ -+
LY
. If the point(—3 ]

@ -3

@,— 16 \

(@) 3y+2v—9=17\""
(dNeither-a-nor-b—

11. Given f(x) = x2 — 3x + 4, find f(x + 2)

(@ x2—3x+4
d x2-3x—4

12. Determine which function is neither

B

13. Find the point that lies on the line determined by the points (1, —2) and (=3, 1). ~

tan x

@ fb) =

@ f&) = V*¥+ 1

(00—

(d) 5,-35)

a
\(\? \i\e}\"i

\r> IS5 a0=-5

(e) None of these

10. Which of the following equations expresses y as a functlon of x"

L and gl =1 =22 find flg0g), xg-rgx’ANt “’le‘ax %{5*"\ ¢/

© 1__ %C@UO) €( - )<1)¢ 1
JT=%=

! ) lies on the graph of the equation 2x + ky = —11, find the value of . 2( ;/O + K( ) S ;/7
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®) -34 © -7 Uy -lp = - t
(e) None of these 4 l‘ i +Q
Ny j
st w.«fﬁ e Apk=-5 2
g W;M —T W~
(b) 2% +x =4y | & ¥ ) Bothaand bv )
@ B -2=5
AN
. ] N
—1Q). \ QR -3
@ 0 2 o= 8 gl =Pl 44
(e) None of these X\ 5{7’ *“;/ - 2{ L
, )] oz
even nor odd. 3(—)(}:'\5()2/‘ 45/%'()() XK
(b) flx) =3x° T3 F 1 ©) fx) = 3
(e) Bothaandb
N wm=2) -
O-&H— (c)(4,—6) e —
(2-249 \b- V493
© (=2,0
o= "3x-% \H W= -3 x+b
(VTR T
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14. The domain of the function f shown in the figure is —4 < x < 4. Choose the complete x

graph of f if f g\c\g\wx\\‘\i&&t Y 0|
@ | 5
\ Z/‘J | ! "
T
o | ©
TR e
4t 1

1 1
! — isug)g the graph of f(x) = —.

— e iy
15< @ Shift f(x) two units to the right. ‘ X¥ 2. /

(b) St (%) two umits tothe Teft

15. Describe the transformation needed to sketch the graph of y =

(c) Shift f(x) two units upward.

(d) Shift f(x) two units downward. T E e
(e) Reflect f(x) about the x-axis. ’
16. Use the vertical line test to determine which of the following graphs represent y as a function of x. |

(@) 1 (b) y

I I
S L S — R
- -1 i 2 a -3 =2 -1 i 3
~1+ ~1+
-2 -2+
]

© 3

(e) None of these
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17. Let f(x) = {x * <0 Find £3).

J

2x+1, x=20 ”(C’D)) - 2“%-*}\“{
=\ x| = ?

(d) Undefined © %%

18. The dollar value of a product in 1998 is $1430. The value of the product is expected to increase

$83 per year for the next 5 years. Write a linear equation that gives the dollar value 7 of the product ,

in terms of the year ¢ (I:eLS= 8 represent 1998) t=64  \4aq (‘b"‘ ?)) = @ "Q)} = \.,‘( 0{ WA A SE
(a) V= 1430 + 83(t — 8) B ==83="14307 () ¥ = 1430 + 83¢

@ =—83—+—+430t+8) (e) V= 1430 + 83(¢ + 8) M%O . DA

35,000

+
19. During the first and second quarters of the year, a business had sales of $150,000 and $185,000, 22,0 g0 ) 2 55,

respectively. If the growth of sales follows a linear pattern, what will sales be during the fourth quarter?
(a) $220,000 (b) $235,000 (c) $335,000
(d) $255,000 () None of these add 35 00 por Nuoater™

-
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20. Tn order for a company to realize a profit in the manufacture and sale of a certain item, the

revenue, R, for selling x items must be greater than the cost, C, of producing x items.
IfR = 79.99x and C = 61x + 1050, for what values of x will this product return a profit?

(a) x =55 (b) x =238 (¢) x =18
O x=56 ) (¢) None of these
o
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